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§1. Basic Calculus in the complex plane
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§2. Complex function as a vector field
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§3.  Definition of complex integration
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Basic properties of  complex integration
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§4.  Fundamental theory of complex integration
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§5.  Integration of 1/(z-a) around a circle
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§6. Cauchy ’s Integral theorem
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§7. Deformation of the path
(Changing end points.)
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§8. Cauchy ’s  integral formula
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Detour. Euler ’s formula
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(Fresnel's integral)
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Example 4
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Rough proof of fundamental theorem



Rough proof of Cauchy’s theorem

1 2

Devide the interia of a closed anticlockwised curve  into 
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